BER#
S
345

i

- M \L\ E=2—TV(50W)
- EEaoto - EAT 1
= L wow w | | |
\\\; ‘ i ) \i a
I ’1—] T = #wEE
| ’ ]
] - 25 yTE EURE D ~1Id
B ” - £= 5TV (50N 7 TI
— 7 ’// R TTLr eRET I i —
j T ! W ‘ — L 77777 s \v/ I T % D T
C? 31 zﬁb i o, /@ = i\ |
m: 5 j; TJV fogﬁ’ﬁl e //"'>

329

\ S
'ae B
%ﬁ %%iﬁE; A | s .

e maEEE

E= 5TV (500
B#avt> b ERATFE

314

/\\\
]

307@; ®306 E7/&E

AL

, Erg
H
=

|

w
)

HUR— bR—ILEih % 2/hR—IILERRITR A3:1/200

] = % 'i"—|
= N
|/ N
NN NN NN dos |
i RN R :

é
|

= £= 45—V (50H)
’ CTEPE PR LEE]
i
— )

T E= 52—V (500)
ErEPE P e

™

EAA|

) : J )
S| 304

O gj%) Q

= |
‘

liss il

201 r@

E BE [W6Ls-3 |

D
©
o)

%g —\) () r

i i I I I I




